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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit what are two reasons for the configuration stanza? (Choose two.) 

A. to reduce the risk of forwarding traffic through a stateless tunnel 

B. to mark the tunnel down after the hold-time expires 

C. to remove the tunnel interface from inet.0 after the hold-time expires 

D. to mark the tunnel up after the hold-time expires 

Correct Answer: AB 

 

QUESTION 2

Which statement about a virtual-router type of routing instance is correct? 

A. It is used to separate large networks into smaller administrative entities 

B. It is the only routing instance type supported on Junos devices 

C. It is used in Layer 3 VPN implementations 

D. It is used to create and maintain separate routing and forwarding tables 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which statement is correct? 

A. Interface xe-0/0/0.0 has a default metric of 10 

B. Interface ge-3/0/0.0 has a default metric of 10 

C. Interface ge-1/0/0.0 can only form a single adjacency 

D. Interface xe-0/0/0.0 can only form a single adjacency 

Correct Answer: B 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, which statement is correct? 

A. Interface ge-3/0/0.0 has a default metric of 10 

B. Interface xe-0/0/0.0 can only form a single adjacency 

C. Interface xe-0/0/0.0 has a default metric of 10 

D. Interface ge-1/0/0.0 can only form a single adjacency 

Correct Answer: D 

 

QUESTION 5

When working with an MPLS LSP, what will the install 172.16.6.0/24 active command accomplish? 

A. The command will swap the prefix from inet.0 to inet.3 

B. The command will swap the prefix from inet.3 to inet.0 

C. The command will install the prefix in inet.0 rather than inet.3 

D. The command will install the prefix in inet.3 rather than inet.0 

Correct Answer: D 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/lsp-routes.html#id-21214 
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